Math 111 Pre-test(Show all work. No calculators. This will NOT count toward your grade.

1. Find the area of the region bounded by 2. Find the equation of the line with slope 2
'y =x+3, the x-axis, x=3 and x=5. that intersects the x-axis where x=3.
_ 2 - 1
3. The parabola y = x” has :slope 6 at the point 4 Lety=f(x)= Find (1), £(=5),
(3, 9). Thus, the tangent line to the curve at x+6
this point has slope 6. Find all points where fQ+r-f2), . .
the line perpendicular to this tangent line S (2+h), and h (simplify)
intersects the parabola.
5. Let y= f(x)=x*+1.Find £(0), f(2), o N9R-3
FG+h) - 1) 6. Consider —7_ Rationalize the
3+h implify).
f( ), and 5 (simplify) numerator,
7. Evaluate /(3), /(1), f(-1) and f(=3) if o 1p JO)= x*-lonx<3
£ = V3xt -2 C O g(x)=2axonx>3
o x=2 and fand g meet at x=3, find a.
. . x+2 10. Find the remainder when
9. Find the inverse of: f(x) = 3x 45 X —6x" +2x—4is divided by x> +2
11. Sketch the set of graphs by building up from | 12. A circular piece of paper with a 4 inch
the first and using scaling and translations: radius has a sector with arclength x cut
(label vertex & intercepts) from it. (See below). The edges of the
y=x%; y=4—(x-3); remaining figure are joined to make a
, 1 ) cone. Find the circumference of the base
y=x=-3); y= 2(4 —(x-3) )é of the cone, the radius of the cone and
i ' the height of the cone all in terms of x.
2
y=—(x=3)"; y ﬂ5(4-[2(x—3)] );
3 2 . - . ‘
13. Find the roots of f(x) = X —4x° + 33«:2 14. Find all valutas of x sat;sfym.g |x —3| <4
(x-2)(x+4) both algebraically and graphically and
and all values of x where the function lies explain what the region means in terms of
above the x-axis. distance.
15. Sketch y = —sin(2x) on —27 < x <2x 16. Solve forx: 2In(x-3)-In(x+15)=1n3
17. Find the area of the square: 18. An open top box is constructed from a

7

rectangular piece of cardboard with
dimensions 14 in X 22 in by cutting equal
squares with side x from the corners and
folding the sides up. Express the volume of
the resulting box in terms of x.
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